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But he said, ‘it never happened’ - 2907 29727 1977 KD MNP N7

OVERVIEW

The X773 explains the view of n"9 in the 71wn (that we return a lost 0w if
there is no N1NXR but not if there is N1NXR) according to PRww (who is not
Xo11p?Y 1w19h won). The mwn is discussing a case where the M2 does not
admit that he owes the money; therefore if there is N171X we do not return it,
for the m9n can collect with this 20w; however if there is no NINX we can
return the 70w to the M (according to n"A since it is not collectible), to be
used 1N M>x 9"y N¥Y (but not to the MY since he claims 2"7777). Our MHOIN
first establishes that the Mm% claims 7. Then NvoIN discusses why we do
not return the 7w and allow the M7 to be 0>>pn it (then he should be able to
collect) and if he cannot be a»p» the 7w he will not collect.'

— 99 NIAY WV MYAY YNRYN

It is apparent from the X3 that the 7% claims that the “vw is forged and

he never borrowed money on this 0W.
— ANPID MINY 13950 ODIYN 0927 1N K JWOY N1 910915 XIYT

For we cannot say that this which the 7% claims aYw» 2127 ™7 XY
means that the % claims, ‘I paid’ and 2"77% means, ‘it is as if the loan never

happened since I already paid you’ -
—INPMYY 29 DY NI8Y MIYY 1YY 9913 )5 ONY

For if indeed this is so; let us return the 70w to the m¥» that he should

wrap it around his bottle; why do we return it to the mbn?!
— 2139995 YN KY INNDYT T

" See *"w1 on the HXmw 71"72 'X Ty 710 who deals with this very same issue.

*If the m> would claim *ny79 we would return the Tvw to the 77, See the X723 on 'k 71y that KT HXMHY
191 1197 1w n X5, The source of this statement is from the X373 later 2,70 where YR rules that 0w X¥A0
NYID? JPWIR KD NI 2wn K1 D1 009922 1m pwa arIpa. Shortly nwown will explain that this ruling of
OXMW regarding nXIP7 MWW is only when the m? is not present, therefore XMW rules that we return it to the
91 because we (the 7"*2) assume that it was not paid. However in a case where the 777 claims *ny19 then
he will be believed with a f>un7 wn (if the vw is not o»pn) as MaoIN mentions shortly (see however
footnote # 11). This presents a difficulty in understanding the proof of nooN that the M> is not claiming
*ny9 (for he will not be believed according to 7%, when indeed he will be believed). The o"2nn explains
that since (according to ?X1w) the claim of >ny1o is believed only 5117 112 then it is difficult to say that
when the X713 establishes the mwn according to PR in a case of 771 21 PX or 077177, that the X713 means
*ny19 (which is only believed when there is a 13 of 717), when the X713 could have established the mwn
directly in a case of 7. [Alternately, when X1 (who maintains 11°w°n X2 1w19%) rules 1205w uwa 7707
17P2 Y, this does not mean that the M2 is ‘believed’ that he paid, but rather that the m%» must be 0*p» in
order to collect. Therefore when the qvw is lost and found, and the Mm% claims *ny15 we should give the 771
the opportunity to be 2>>p» the qvw; why is the rule 21> 85?!]
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And furthermore we cannot say that 0"77% means *ny-9, for »X»w is not

concerned that a 70w is paid (because if it would have been paid it would have
been torn up and discarded) and we are now discussing ?X1w. Therefore we must assume
that 0"77% means 7>, This sets the stage for the following question.

nvoIn asks:
— 99N NY ININ NPINN 1 Y 1D2ART DY)

And there is a difficulty (if we assume that the mY is claiming 7°3), for

even if there is N R in the "vw, why should it not be returned to the m>»;

for -
— 3112}’ 1272 13192 ON) 0195 Nay NY 190P NY BN

If the m%n will not authenticate the signature of the 0°7y, he will not collect
anything, and if he will be 223p% the q0w, the m®» will collect justifiably.

MooIN anticipates a possible answer to his question:
— *05m91" MMPON HYIN 19392 NI 1INO¥Y RIIY 1PYNT 91217 NI

And one cannot say (the reason we do not return the 0w if the m? claims
a1 is) that we are concerned that perhaps the m%» will present the qow
not in the presence of the M7, or he will present the 70w against the nymp»

or the 2521 and demand to be paid -
— oW X941 DIUN “999t ©NY PYOI XYY

And we (the 7"2) will not claim on their behalf that perhaps this W is
n» 37 (and therefore the 791 cannot collect with it until he is 2»pn the 0W).
The reason 7"™2 will not claim 7772 on their behalf is because it is

uncommeon for a 70w to be 71, Therefore the M7 will collect with this 17192 XoW ww
without a1p (since no one is [or can be] claiming 7°*117), even though there is a possibility
that it is 7> (as the MY is currently claiming). This is the reason why the 2w should not
be returned.

3 If 777 20 PX would mean that the M claims *ny15 (and we are concerned that perhaps he is right, then it
is understood why we do not return the 0w (because o1p will not resolve whether it is ¥179 or not).
However now that his claim is 51 let us allow the mMn to be 0>>p» the “ww and disprove the 775.

* When the 70w becomes due the m» will find an opportunity when the m? is not present, and present the
q0w to 72 to collect from the estate of the M.

> The mb» will present this 7w to MmMpPY (where the MY is not present) or to the 20 of the m» after the b
died.

6 Usually 7" intervenes on behalf of nymp?1 o in° to claim °nyno, etc. because the mmp? a>mn° do not
know the status of the 7vw. They can only present a Xnw nivw, perhaps it was paid, and perhaps it is 7>1m.
The Mm% is not obligated to respond to a X»w niwvw. However when 7"°2 makes a claim on behalf of the
mmp? o’ even though it is also a ¥nw nivw (for 7"2 does not know whether it is 5™ or ¥19),
nevertheless it is treated as a 12 nivv. In this case however 7"*2 will not have a 71y as N1DOIN continues.

"It would demean the honor of the 7"32. People will say 7" is making frivolous claims.

2

TosfosInEnglish.com



MNP X7 A7 ' 2,30 "2 .7"02

mooIn proves that the 7"2 will not claim 7> since it is oW R?:
— MY NRYT DIVN YDINI IND 1IN0 PRV 195

Just a 72 does not claim 2iX1 on behalf of 22103, because 01X is not

MmO, similarly the 7"2 will not claim 7 for it too is MW K7 -
— 80w 3,9 47 xama Naz) 1227 [HIN] 199904 19999N15

as the X2 states in D327 DR 9257 P19 regarding 0N N,

mMdoIN continues with the proposed answer:”’
— xn y190 DAY PIPIV PR D) G INY PPIPIV PINRT 119D

And since 7"2 does not claim 7112 on their behalf, 7"°2 will also not
claim 92 on their behalf.

mooIN responds to an anticipated question that 72 should claim ¥175:
— " owr a,mp 97 0wy HNAY 5 9993 920 HNNYT 23 YY 9N

Even though >X1»w maintains in naw s p=s, that -
— 92T 99N Y2 INT NN XD N9 999 AND ”9”175 T°9%9N2Y 90Vva AN

A Mm% who admits that he wrote the 2vw (i.e. he borrowed the money),
however he claims that he paid the loan, the Mm% is required to be 29p» the
7uw in order to collect, for the % is believed with his claim of 15 with

the w»o» that he could have claimed 19117, Therefore seemingly here too 7"2 can
claim ¥179 on behalf of the mmp 2> and the M%» will be required to be 0**pn the W
as in the case of 1205w 7vW2 777 (and therefore there is no concern regarding the return
of this lost q0Ww).

mooIn rejects this argument:

¥ The X3 there is discussing a debt instrument known as a 0% Jvw. The '7%' gives a sum of money to the
'mY"; half of the sum is a loan (which the m? is obligated to pay back, even if there was an 01X and he lost
the money) and half is a 175, which the receiver is not obligated to return if there was an 01X [and he
swears to that effect] for it is a 17p9. [This debt instrument was made to allow the 7171 to collect 1°27 on the
half which is a 17p5. This is known as a Xpoy 2n°n.] If this 0°2 7w (which is 2”pn) is presented to the
o°mi, all agree that the m>n collects the half which is a loan. There is a npY2nn whether he collects the half
which is a 1779 (depending on whether we assume the father paid or not). However all agree that 7"°2 does
not claim 10181 on their behalf and thus exempt them from paying the 11722 *xr1 (even though their father
could have claimed 10181 and would be 7102 for the half of the 117p9). The reason is because DX is 72w R
and similarly here too, 7> is also 17°5W R>.

? One can still ask that granted 7"»2 will not claim 7> (because it is m2w X?), however 72 can claim ¥17
(which is m°ow). nvoIN addresses this issue why 7"°2 will not claim ¥179.

10 3175 without the W of 7117 is no v (for the m%n has a qvw), so if 7"2 will not claim 71 there is
[seemingly] no point in claiming ¥179.

' See w"w that “xmw is of the opinion that n"1 maintains 1»p> ¥ 1200w wwa 37 (but this is not
necessarily the view of Xmw). We are now however (also) discussing the view of »"3 that if nvyanx 12 v
1170 &Y 2°021. [See footnote # 2.]
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— NN 199 19IP0 RY 99113 199390 RYT MNIPYYY 309 01PN Yan
Nevertheless (even though ¥179 nivv is believed with a 717 1an)
regarding the nymp» nin> where 72 will not claim 591, so too 7"2
will not claim ¥115 (on their behalf).*

In summation: MaoIn proposed answer is that we cannot return this 0w to the M>» (since
there is concern that it may be 71 as the m> claims), and the M%» may present this 0w
for collection M7 *192 X7W so there will be no one present who can claim 7> (for they
[the mmP1 2°210°] do not know), and 7">2 will also not claim 711 since it is 72w X7. The
71vv of y15 will be ineffective since there is no M of 7™M (because 7"2 cannot claim
n™ ). In order to protect the mmp?1 2mn° we do not return the .

mooIn rejects this proposed answer:
— Pyyaa 015 NI XN 9910 DAY NYLI XY 199987 XYY NN

But this is not so! For even if 7"2 will not claim 1% on their behalf

nevertheless, 7"°2 will claim ¥199 on their behalf, and it will be an effective m1wv
which will require the m%» to be 0»pn the Tow.

mooIn proves this point that even when 7"2 cannot make a claim (such as #wn),
nevertheless they can make another claim (3179) which will be effective because of the
131 [of the currently unacceptable claim (7171)] which the father had:

— * 0w 2,9 910w) %20 [HN] 999903 139N 1

As the X773 states in N335 AR 9157 PO -
— NYNM N PyaYT 0NN HY KEYN D3 TOY *3)

Regarding a ©°> "uw which is presented against the 2°» 03, where the rule

1s that the claimant swears and collects half of the ©°> qvw; the portion which is

considered a loan -
—MMITNN 1Y 19%PV PTPAT NADoa YaN

However the half which is considered a deposit the claimant cannot collect,

for 7"22 claims on behalf of the 0°»n° that perhaps the father returned this
half to the qvwn %va
— YDIN) 9N P2 INT NN NN 919D AN YAV DNHYAN M

Just as their father would have been believed to claim ‘I returned the

"2 The maww of ¥ requires 01p only if there is the possibility of claiming 5 (as it is when the ¥ claims
¥179); however here where there is no possibility of [7"2] claiming 7> (for it is mow X?) therefore mooin
presumes (at this point) that ¥179 will not require 01°p in order to collect. There is no point in 7"2 claiming
A

" The myv of 1179 is 2w for people pay their debts. See (however) ‘Thinking it over’ # 1.

' See previous footnote # 8 regarding a 03 Tow.

' There is a n"pn that a M>n must swear that he was not paid whenever he collects mmp?m om0 even if
he has a o»pn 70w (as is the case by 072 0W).
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half of 7pn°*

the 170 7¥nN -

because of the 1% that he could have claimed Y9181 regarding

— YDINI 1ND 19290 XDT 2) JY 4N YNITNN 1323V DNY 0N 7o
And so therefore 7"°2 also claims for the 00> that the father returned it
even though 7"2 will not claim Y0181 on their behalf because it is mow 85."

In summation: Md01N proves from the case of 92 W that any 3 which the father had is
transferred to the om0 (even though ‘practically’ there is no 13 by the a»n° because
7"2 will not claim 10181 [or 711]). Therefore there is seemingly no concern here to
return the TW to the M1 because whenever he will present it (even M%7 °192 X7w) he will
be obligated to be a»pn the 70w (at least) through the 71y of ¥171.

mooIn brought proof from the X°x10 of ©° 7wW that 7"2 will claim ¥175 as an effective
7wv. Now mooin argues that (even) without the proof of 02 7VW we must assume that
71 presents a 739v on behalf of the MmP? oI (even 7> v if necessary).
— 11592 959 »N NPAY XY 19 XY ONT 199 IN 9991 179 130390 THI3 YT Ny
And in addition (without the proof of 0’2 q0W), perforce you must say that
7"2 presents on behalf of mmpP?1 o210 the claim of f™1» or 15, for if it
is not so (and 7"°2 does not present any claim) then ‘you will not let anyone
live’ -
— 19392 XYW MNP DINN HY NINNY DTN D DT
For any person can present, against nymp® ,2°»1n° or not in the presence

of the 715, either -
— BNY PPV K MY YV F991 90V N 1IN YoV

'® The father would have to swear that *n 7 (just as he would have to swear if he claimed 10183). The
omn° would have to swear a 1w 1w (that our father never told us anything concerning this matter).
"1t is noteworthy that this discussion in M990 (whether the 73vv of ¥17 is effective by the D) seems to
contradict the concept of 1 as it is usually understood. Generally we assume that 1 is effective because it
proves that this claimant is telling the truth, for otherwise (if he is lying) he could have claimed a more
effective lie. However here we are discussing if the claim of 175 which 7"*2 presents, is an effective claim
(since it is effective by the father 711737 1a12), or not (since 7"*2 cannot claim 7). There is no logic that
7"22 should (or should not) be ‘believed’ based on whether 7"°2 has a 1a» or not. The claim of 7"2is a nwv
Xnw. When 7"°2 claims °ny75 on behalf of the 0°n° they are not saying that we know that their father paid
the debt, but rather they argue that perhaps the father paid the debt. The classical interpretation of 1 is
irrelevant here. The usual idea of 1an that 7"2 is saying the truth, for otherwise it could have said a ‘better
lie’ is not applicable. Therefore there is a different approach to explain the effectiveness 1. Since the %¥2
1117 has the potential of making the 12 claim (as opposed to his actual claim), we consider it as if he made
the 1 claim. Here too since there is a potential of 7™ niww; the 119 nNwv by 7"2 should have the
effectiveness of 71 niww. And even though there is no real potential of 71 niywv by 7"2 (since it is X?
mow), nevertheless since the initial ¥2n1 had this potential and his >ny75 N1wY contains within itself the nvw
717 which requires 01°p, this power is transferred via 7"°2 to the o .

'8 The maker of this bogus 797 70w will approach anyone who inherited a house (2°»1n°) or bought a house
(mmPY) and claim that the father (of the 0°1n°) or the 731 (to the MMIPY) sold this house to the Nww: 2
before he died or before he sold it to these nymp?. The only response to this bogus W is to claim 5.
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a note of debt or a bill of sale that the presenter made as he pleases and

7"%2 will not claim on their behalf!! Therefore we must assume that 7"2 will
claim either y179 or 71n; whatever is necessary to protect the interests of the o »n
mmpo.

mooINn brings an additional proof that 7"°2 will claim 7> when necessary:
— (aw 3,7¥p 91 ow) VIV V) 992 NN 19]:)1

And this is also evident in v v P=D -
— 9792 99995 NI 9INY 209‘1)2 29V 1191 Y9INT INMNIYI 299

Where 29 and 981w both state that if a 9% 292w said, ‘T owe him a 71%’,
and the n">w passed on, the ruling is that if the n">w -
—153193 1PN 199 IR XY 1231 199 NN

Said, ‘give him the money’ (in addition to admitting that he owes the
money), then we give him the money; if however the n">v did not say,
‘give him the money’ (but only ‘I owe him money’), then we do not give
him the money (even though the »n">w admitted to owing the money) -

— NIOVY VYT 0NN Y91
And the X713 there explained that the claimant was in possession of a uw

(which stated that the n">w owed him money), but it was not 2>p», so if the n">w -
= 1Y90YY 19109 XY 19N 99N XD XIVYD 19109 190 9N

said 1un, then the n">w was a»p» his "vw, however if the n">v did not say

10, he was not 2%p» his U and the Mm% cannot collect (without ovp) despite the

fact that he is in possession of a 0w against the estate of the n'">w -
— 091N J52VA NN 97 12%Y0 NIIN

It is evident (from the fact that he cannot collect) that 7"2 will claim %17

on behalf of the 23210 (for that is the only reason that the m?» will not collect. He is
required to be 0pn the 7Y in response to the claim of 7117 by 7"°2). NMBOIN continues to
explain that we cannot say that 7"°2 claims *ny19 and that causes the 21’17 to be o*pn -
—1MPY 298 PN IANIY Y0V N (x,02 97 AN YA PI91 920 297
For 29 maintains in the second P25 of m2wn> that if the 7 admits to

writing the avw (i.e. it is not 7°1n), the MY is not required to be 27°p» the

There can be no vy of >Ny against a 191 ww. The MMP2Y 2N cannot claim 7> for theirs is a NWw
xnw. It is 7"2 who is required to claim 511 on behalf of the mmip? o°min°. See footnote # 6.

' Perhaps moon is saying that even if we do not accept the proof from npaw X3, nevertheless we see from
this X3 that 7"2 claims 7>, (See 7an NIX *"92.)

2 A vy 22w is one who is deathly sick. Generally, whatever the »"2w says is considered as if it was
written in a 70w and delivered to the intended receiver.

I ' We do not give the money because we assume that his admission was made 32 nX ¥"2wi> Xow; people
should not think that his children are inheriting a large fortune. Therefore he says he owes money.
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7vW, so "Ny is not a valid claim against a 7w (even which is not 2p») according to 17,
so therefore in the case of the n">w —

— 2 120 NYIVWY N3P RY IN 19 ON NP9 13%P0 XY
We do not claim sny92 on behalf of the amn° (because Ny is an
ineffective claim), therefore if the n">w was not 2%p» the vw for he did
not say 11N, the 7"°2 will claim 5917 (and that explains why the 2°mn> do not have
to pay, for otherwise if 7"2 does not claim 7> the M» should be able to collect).

In summation: Md01N rejects the supposed answer that 72 will not claim ¥175 or 7”17 for
the MmP? oM, but rather that 7"2 will claim even 7 to protect the interests of the
mmp o'mn>.2? Now mpoin reiterates his initial question:

— 99N ND ININ )9 ON)
So if this is indeed so (that 7"°2 will claim 71%), why do we not return the
W to the Mon? If we are concerned that the m>n will present it 7197 %192 R2W then 7"™2
will claim 7>>71 and w91 ann if the Mo» will not be o»pn he will not collect and if he is
o»pn he will (and is entitled to) collect.

Moo anticipates an additional (proposed) answer:*
— NIN MM RNY WIND Y 13109992 999N o091 199 ¥INN Y97 1999 91919 1PN)

And one cannot answer; since the 70 was lost, it is defective; therefore
even if the m>» will be 2p» the "W there is the suspicion that perhaps it
iS 39117 in spite of the o1p -

— #9950 NANYNYS 91909 19 99N KY NP 799
And therefore the m1wn rules 29> K» because we are concerned lest the

mon will collect when it will be forgotten that it was once lost. Then even
though the m>n will be 2>°pn the MW (when 7"2 will claim 7»11); nevertheless this 01p is
insufficient since the 7w was lost and is therefore defective. This is the proposed answer.

mooIN rejects this answer:
— zsﬂmpﬂ YOV NY1I INNIY N (2,10 97 IPY 199N NN

For the X713 states later that »X»w maintains; if one finds a R1P77 v he

should return it to the maker of the 20w, since there is no concern by a X3P WY -
— 9 MY XYY MY ans DIvn INT

** This is different from 101x1 which 7"2 will not claim because it is 3w &%. For even if 7"2 will not claim
101X1 it will not cause a 1 nPaw X?; however if 7"°2 cannot claim 7°°117 it will create a »n NPaw XY situation.
* This is perhaps referring to *"&1 on the PXw 7"7 'K Ty,

* While people remember the loss there is no problem to return it to the \mbx 5"y x> mn, for everyone
knows that for this 2vw the ovp is ineffective. The concern is that the 7951 will be forgotten and people will
deal with this as a regular 70w, when in truth it is ¥70°X and o1p is ineffective.

* See *"w1 on top of ™MwW2 7" X3 as to the meaning of 7XIPT V.
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For if we are concerned that perhaps the Mm% wrote the 70w in order to

borrow and did not borrow, etc. that is no concern (for since it is a X7 WY

even if he did not borrow the m? is still obligated to pay). This concludes the X3 -
— DTN NINY 192392 MYN PNT ¥NRYN

It is apparent from the syntax of the X3 that the m7% is not present and

admitting that he wrote this X7 0w -
— 2my5 XYY MYY AN NNY MNP

Since "X1nw states when discussing the concern, that perhaps 8 n®% an>

1193 indicating that the M5 is not present, and 7"™2 is speculating perhaps Mm% X1 M9 20>

(otherwise the M would state this claim if he is present) -
— D599 19N IMN DN ON IT2AN) XN M1 NIY WIN 991N INNIN)

And since the mY is not present and did not authenticate this “vw why
should the finder return it to the m>», let us be concerned that perhaps
the 0w is n™1, and even if the Mm>» will be a»p» the “vw it will not be an

effective orp (since according to this proposed answer, once a W is lost, 01p is not
effective).
— 91 7931 12 2INY A0 RN (v, 91 JAPY MINT YOX 29 19)

And similarly "oX 29 who rules later; one who finds a "vw in which a

237 is written, he should return it to the m%n; according to this proposed answer
(that orp is ineffective by a lost W) -
— 123990 HNIHNN 92T NNIY YIN N ININ

Why should he return it; let us be concerned perhaps the % forged the

signatures of the 2%1%7. These two cases prove that ovp is effective even by a lost
Tvw. The initial question remains; why do we not return the 0w to the m191?!

N1B0IN answers:
— 7135303 1197 PRY 299 SON 29 INNYT KNYINT 9129 W

And one can say; that the rulings of ®X»w and “oX 29 (from where we
derived that o1p is effective even by a lost W) are discussing a case

where the 7Y is not present to challenge the authenticity of the bW -
— NI MM NNPY YIND PPN 99N 7o)

And therefore the finder must return it to the 7% and there is no concern
that perhaps it is 19917 (for 7 m is oW XY); nevertheless, to be certain that it is

26 Alternately, m> X21 M%7 an> Xnw cannot [also] mean that the m? admits that he borrowed, but 7"2 is
concerned that perhaps he did not borrow yet and he wants to borrow now; for then the X713 should have
said »Wwn 7Y M7 X2 10°32 MYY 2n3 RAWw, but not 712 X1 N19% and which indicates he (did not borrow and) has
no intention of borrowing (see n"m1).

7 A po17 is the authentication of the signatures by 7"*2 which is attached to the “bw.

% mooin just proved this regarding the ruling of YXmw (and the same would apply to *Ox 27).
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not 771N -
— 11335 1315575 ORY PN PYVI MY NYIIYI)

And when the Mm% will want to collect with this 70w not in the presence of
the M7 then 7"2 will claim n1» and if the m>» will be 2»p» the 0w he
will collect (even though it was lost); furthermore -

— Pa55n2 1159 XaW 153 YINY PR NI 91 PP MYN P79 9NN K> BN 1999N)
And even if the m® will come afterwards and claim it is 7> we are not
concerned (that it is 7>, if the m%» will be a»pn the “ww [even] then)

since it came legally into the possession of the 1.
— 9919 1957 Y HOIY YOV NSNY NN NPT (3,197 D99 ¥9UN 19

And this is also indicated previously where the X ) states, ‘and if

another person found a "vw which ‘fell’ into the hand of a 17, etc.’ then

it should not be taken away (from the finder) forever -
— 95502 919D NaY 1975 129 INN MIYNN DN YHYUN

It seems that if the 7% found the "9 he can collect since it came to him

legally. In the cases where the Mm% did not claim 5 when the qvw was found, we
return it to the M>n and he will be required to be 0°°pn the "W if he wishes to collect X7w
M7 °192 and the ovp will be valid (since initially when it was found the Mm% did not claim
qN).

— 20 PV NN NYVYA 122392 MYAY 299N 1PN%NNA NI YaN
However here in our mwn» we are discussing a case where the m¥ is

present when the "vw was found and he claims it is 5> -
— PN XY 91 INTIA 1IN IV DN NDI9YT KM XIINT 11 199

And therefore since there is the defect that it was lost and in addition
the m® claims that it is certainly n°, in such a case it is not to be

returned to the M -

— 90WN OPP 1 5y 19393 RHYW IN MNP DIDIND NN RAY WINY U 93
Because there is the concern that perhaps the m» will (attempt to) collect
from nmpY 29210 or M2 X5W through "W 219p, and in this case -

— %919 1N BPYPM
The 21%p is not effective -
— 191NN NYAY DYTYN DINADY 1Y 2902 VYN 921D NIV NIV 99
For perhaps the m%» strained himself to forge the “vw so well that the
2°7v think that it their signature (when really it is not) -

% This means after it was returned to the mn (but [even] before 01°p).

0 See “Thinking it over’ # 2.

?! See later (footnote # 33) why Mmoo only mentions the concern of 192 2w and not that he will collect
from the M> who claims that it is 5.
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— 22099 XPIIIN N1 NINT (3,107 97 x9ma Na2) VIYD VIT NN %9

As that incident mentioned in vy wx P79 that he placed his hand on a
pail and wrote the signatures of the 0*7y; it was such a good forgery -

—INNIHN NIV 920 NN 1MNya NaIY

That 829 himself thought that it was his signature (when indeed it was
forged). This proves that it is possible to forge a signature perfectly. Therefore we do not
return this lost 0w if the MY claims 71 because of the 9917 ¥R we are concerned that
the m°n forged the Tww so well that it will stand up to the scrutiny of the 0>7v which
signed the “vw.

mooIn makes a (possible) distinction:
— 0159 215 5y NAY NPAY 919 Ny MY Py

However it is possible that the mbY» will be able to collect his debt from

the m® through 21°p. The reason this distinction is being suggested, is -

— 1NN NNV NIV 9NN NINY NN Y1 NINY 29Y
Because the m>, who truthfully knows that it is 7%, will make every
effort to dismantle the s'71%» proof. However if we would return the qvw to the
M9, he may wait to collect M2 °192 R>¥ and no one will remember that the Mm% claimed
7172 and that this 20w was lost and found, so therefore even if 72 will claim 777 it is
possible that the mYn expertly forged the vw, so the mn» mmph will accept the o1p
without expending undue effort to disprove it (for they do not know if it is 7°177 or not).

nooIN asks:
— 9 199 993 Y999 %29 9N (3,1 91 IOYY 9INRN ON)

And if you will say; previously in the X712 where 501 '3 ruled that if the

W ‘fell into the hands of a 3997’ meaning that it was a 2°"pn 70w and was found -
— PYI9Y 192YN XYY INPINA NXIN 29N

It is in its presumptive state of being a valid vw, for we are not

concerned that it was paid up and it should be returned to the m>»; this concludes
that X7n3. M0N0 continues with the question -

2 The story there is that a person presented a qvw with the signatures of X217 and 727X 92 XAX 27. X217
recognized his own signature, however he refused to authenticate it, saying he knows that he never signed
on a 7w together with X"ax1. The “vwn %v2 was forced to admit that he forged both signatures. 827 asked
him how did you manage to forge the signature of &"ax" since his hand (of X"2x7) was very shaky and his
signature was difficult to forge. He answered that he placed his hand on a pail in a well (which shakes) and
thus he was able to simulate a shaky signature. [The X3 there actually reads (in the second 1Ww?) that op
XpP11rR and the 0"awA explains that he stood on the shaky pail so his whole body and his hands were
shaking. (The first 75 there is X1¥1XR °K7> *MIX; he put his hand on a shaky rope, w">¥.)]

3 See footnote # 31. Moo is explaining why he mentioned the concern from Mmp1 om0 only.

* If we allow the m» to be o>pn the oW that was found he will be allowed to collect from the 71%. See
‘Thinking it over’ # 4.
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—3NPID IV 199393 MTNY YPYNRT ) HY 4N)

And even though it seems that the > is present and claiming ">ny=s' -
— 90V PPN D2IVT RYIIT NINDYT

Similar to the Xw"9 of this Xn»72 regarding MWW PPITR 29I where the MY is

certainly there and claiming >ny7® (for that is their argument there) -
— NI 927 9N 2P INT 1M SNYID 91997 1IN NNP ND INNIN)

So why is the M7 not believed to claim >ny=p with a 2% that he could

have claimed **7°911% (and ovp is not effective for a 7w which was lost) -
— NPYII9TD N 2NN KD 0PN ITAN) MMPYI DININND NAN? 19 99N> Y INT

For then if he would claim 717 it would not be returned to the m%» out
of concern lest he collect from the nymp® a0y, and even 2amp» is not

effective, as I explained previously. Why do we return the q0w to the m>»?! mooin is
asking that the 71yv of 7177 13n2 ¥179 should prevent 7"°2 from returning the WY to the
M9 (just as 71 NIV prevents it from being returned to the mMn).

Mo0IN answers:
— DX DIV NYINDY XOY NP 91397 99 2107 110 NT PRT 99D U

And one can say that this is not a good %, for he would rather say sny=p

where no person can contradict him -
— 191297 19 RI% 3 PN 9N

Rather than claiming n°1», where he is concerned lest the m%» will be

2P the 0w -
— 92 17235 9391 139X DPPAY 23 YY IN)

And even though the 2vp will not be effective to collect with this -vw,
since it was ¥ R) 791 (and the MY is claiming 7°*11) so what does the m? have to fear -
— YNNG HI19PW 927 1IN WV PN OIPN Yan

Nevertheless the > will not willingly claim something that can be
contradicted. Therefore there is no w.*°

mooin offers a different resolution to this question (of NP2 X177 °77) based on what was

previously suggested:
— 0P »1 HY NAN NIN 1YY NITN IV 99N ON)

And if we will assume that the 7177 can collect with 213p (of this lost QW)

[only] from the /Mm% himself (even if the Mm% claims 5™, as Mo mentioned

previously), then -
—INPINA NIN 91T 919199 13981

We can possibly say that the meaning of YnpIa RY7 5977, is -

% Perhaps Mmoo means that the 1% can claim that the 5371 is 7. See “Thinking it over’ # 5.
3 See “Thinking it over’ # 3.
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— mmp9r 0391 Y 1IN 19 WING WY MYNIY 139510 RY
Not that the 70w should be returned to the m9», for there is the concern,

lest the m%» present it to the nImPH1 292303 (and this is not permitted since the
mY is claiming 7°117 112 1119 and therefore 0P is ineffective M °192 ROW) -
$19995 192WN XY NIDN 119 NN RENIN 192 97I¥a MYNN 19199 ON NIN

But rather 10172 X177 771 means that if the m%» can be 2»p» the “vw while
it is still in the possession of the finder, then the m>» may collect with this
0°1pn v from the MY and we will not be concerned that it was paid up.

SUMMARY

If a 7vw is found and the M7 claims that it is %, it cannot be used to
collect M7 °192 XKW even if the Mn is 0»pn the Tww. Tt is possible that with
o1p the mYn will be able to collect from the Mm% directly. 7"2 will offer any
m1wv including 7> to avoid a nNpaw X?. A 7w which 72 claims on behalf
of amn> will carry the same power of 1 that the father would have (even
though 7"2 will never claim the 71y ).

THINKING IT OVER

1. mdoIn maintains that even if 7"2 does not claim 7 (for it is oW XY),
nevertheless 72 will claim ¥119.%® Seemingly just as 91 is *9W X9, 50 t00
Y10 is 1°OW XY, in the sense that if the M paid why does the m%n still have
the 7uw (which is the reason why 2X1w is 11¥19% w0 89)?1°°

2. mooin distinguishes whether the M% claims 7™ before it is returned to
the mYn (in which case it is not returned, and 21°p is ineffective) or whether
the M7 claims 7”17 after it was returned to the 7177 (in which case the 21p is
effective).40 How can we explain this difference; either we believe the m?
(because 777°912 vIN°K) or we do not?!*!

3. PR maintains 11°°p% 77X 1205w wwa 7% for he has a W of fn; by
the 17 of *01 " of "1 17 7°% 951 our MOOIN says there is no W because the
m> is concerned 1M na° 19.** Can we reconcile these two opinions?*

7 See ‘Thinking it over’ # 6.
38 See footnote # 13.

¥ See ann nix "2

40 See footnote # 30.

' See n"m1and M0 MR >
2 See footnote # 36.
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4. npoIN maintains that even if the m> claims 7> the M%7 may be able to
collect from the Mm% (only), with 21°p.** The &m3 initially asked® if 27 PX
777 then why does n" maintain that 9°117° 0°021 NPINKR 12 PR 0K, granted that
he cannot collect >7avwnn but he can collect >0 "127 (from the m9).
According to mo01n indeed if the mn is 0>pn the 7w he should be able to
collect from 1112 (of the m?); what is the question‘?!46

5. m»poin asks on *01 "1 why do we return the T since the MY claims *nyo,
he should be believed with a w2 of 5"’ Why does moown ask this
question only on "0y " and not on those who maintain X 1202w “0WwW2A 77N
1P Y he should be believed with a fpam7 a1 *

6. MdoIN explains (in the second answer) that when 01 ' states (regarding a
7 707 D91 Tvw) that MNPIHA X7 7 it means that the 797 can collect from
the 717 (only).49 What is the reason that we cannot return it to the m>»; the
mY is claiming °ny5 (not 71), and Moo explained that ovp will not be
effective by a lost 0w only if the Mm% claims 7. Here, since the M7 is not
claiming 7> let us return the “0w to the Mm»» and when he wants to collect
1192 89w he will be required to be 0»pn (the p5377) and he will collect 175!1°°

#3 See *"19 and I MX "1

# See footnote # 34.

9,

4 See w"wA.

47 See footnote # 35.

8 See n"w 0" ,X"wAAn and LA MR "2
4 See footnote # 37.

0 See mymw an.
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